



姓名: \_\_\_\_\_

日期: \_\_\_\_\_ 分數: \_\_\_\_\_

$$\left(\frac{1}{3}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{5} =$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{5} =$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{3}{5} =$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{6} =$$

$$\left(-\frac{3}{5}\right)^3 - \frac{1}{5} =$$

$$\left(\frac{3}{4}\right) + \frac{1}{3} =$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{3}\right)^0 - \frac{1}{6} =$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right) - \frac{1}{5} =$$

$$\left(\frac{2}{5}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^0 - \frac{1}{2} =$$



姓名: \_\_\_\_\_

日期: \_\_\_\_\_ 分數: \_\_\_\_\_

$$\left(\frac{1}{3}\right)^3 - \left(-\frac{3}{5}\right) = \frac{86}{135}$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{5} = \frac{9}{20}$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{5} = \frac{41}{180}$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{4}\right) = \left(-\frac{43}{64}\right)$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{2} = \frac{17}{16} = 1\frac{1}{16}$$

$$\left(-\frac{1}{6}\right)^3 + \frac{1}{2} = \frac{107}{216}$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{3}{4}\right) = \frac{111}{100} = 1\frac{11}{100}$$

$$\left(-\frac{3}{5}\right)^2 - \frac{3}{5} = \left(-\frac{6}{25}\right)$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{6} = \left(-\frac{5}{48}\right)$$

$$\left(-\frac{3}{5}\right)^3 - \frac{1}{5} = \left(-\frac{52}{125}\right)$$

$$\left(\frac{3}{4}\right) + \frac{1}{3} = \frac{13}{12} = 1\frac{1}{12}$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{141}{250}\right)$$

$$\left(\frac{1}{3}\right)^0 - \frac{1}{6} = \frac{5}{6}$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{3}{4}\right) = \frac{111}{100} = 1\frac{11}{100}$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{13}{75}\right)$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{1}{3}\right) = \frac{61}{192}$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{11}{10}\right) = \left(-1\frac{1}{10}\right)$$

$$\left(\frac{2}{5}\right) - \frac{1}{5} = \frac{1}{5}$$

$$\left(\frac{2}{5}\right) + \left(-\frac{2}{5}\right) = 0$$

$$\left(-\frac{1}{5}\right)^0 - \frac{1}{2} = \frac{1}{2}$$